m AEFELRIEE




i 7= 5

FR—

513

GMA3 p. L4

MAV ... MA3 p. L6

MAVMD ... MA3 p. L6

L2

Pt 4100/CH



A =

EMA3 SMBEUNIEE sk — ERERIROIM 16x2

SR L BSSP, A

M16x2 M16x2 M16x2 300 D1
N : 0
= = T1 5|9
! =] Parker (€.0) EMA3 :-O 7o)
Parker (E-0) EMA3 :’a'ke’ €D EMA3X :. | =) . o
; > - i > 2 hrt i 5 | A A
i E - é ‘ ‘4# £
£
s2
(<] (3]
! G I | | 1T
S1 : T T s1 - !
£ 4 ' | |
‘ | ‘ 3 X2 ‘ 3 X2 y !
X1) ) ) | 3 ‘
I o m /A O AR
2D1 E.A D1 E.B 201 E.C ‘
M16x2 M16x2 M16x2
I . I
% =] ( = Parker (E0) EMA3
Parker (E-0) EMA3 Parker EMA3 !
5 S Sy o " S
S s2
|
S1 s1 : st
]
S S T N
X X3) L x3) 3
- - L X1) OZV[E
Iso 6149 T1 T1 M X2) Bk
2D1 &.F ZD1 &.D 21 &. E X3) & BEEH
= TAEEA (bar) DF**
T D1 L1 L2 S1 S2 . /4 T8RS CF 71 CF 71
M8x1 9.5 38.5 7.5 17 A 66 EMA3/8X10R 250 4.0
M10x1 1.5 37.0 7.5 17 A 70 EMA3/10X10R 630 630 4.0 4
M14x1.5 18.8 39.5 11.0 19 F 79 EMA3/14X1.51SO 630 630 4.0 4
M10x1 14.0 40.0 8.0 17 D 67 EMA3/10X1 400 4.0
M12x1.5 17.0 38.0 12.0 17 D 74 EMA3/12X1.5 400 4.0
M14x1.5 19.0 39.0 12.0 19 D 78 EMA3/14X1.5 400 4.0
M16x1.5 21.0 40.0 12.0 22 D 90 EMA3/16X1.5 400 4.0
G1/8 14.0 37.5 8.0 17 D 70 EMA3/1/8 400 4.0
G1/4 18.0 39.0 12.0 19 D 77 EMA3/1/4 400 4.0
G3/8 22.0 40.5 12.0 22 D 91 EMA3/3/8 400 4.0
G1/2 26.0 46.0 14.0 27 17 E 137 EMA3/1/2 400 3.4
G1/8 14.0 375 8.0 17 B 72 EMA3/1/8ED 400 400 4.0 4
G1/4 19.0 39.0 12.0 19 B 76 EMA3/1/4ED 630 630 4.0 4
G3/8 22.0 40.5 12.0 22 B 93 EMAZ3/3/8ED 630 630 4.0 4
M10x1 14.0 40.0 8.0 17 B 71 EMA3/10X1ED 400 400 4.0 4
M12x1.5 17.0 38.0 12.0 17 B 72 EMA3/12X1.5ED 630 630 4.0 4
M14x1.5 19.0 39.0 12.0 19 B 77 EMA3/14X1.5ED 400 400 4.0 4
G1/2 27.0 46.0 14.0 27 17 C 135 EMA3/1/2ED 400 400 4.0 4
**DF = it &
TES R
[z FEALE 5l FREE TR
Rl
1EIRIE - =
EEAID R M, TAMEEIESE CF EMA3/10X100RCF NBR
MRLERMES W 71 EMA3/10X100R71 VIT
L3 PR 4100/CH



i 7= 5

GMA3 ERMlli Rk — EEIRGM 16x2

M16x2

Parker (E[0) EMA3

wn
-
S1
|
‘ER | |
|l ala =
SIS ___] Tl _; g
L3
L2 L4
L1
= T{EE 51 (bar DF**
£ D1 T1 D3 L1 L2 L3 L4 L5 S1 S2 52/ U CF 71 CF 71
L 06 | M12x1.5 4 35 21 10 51 490 | 24 14 126 |GMA3/06LOMD| 315 | 315

08 | M14x1.5 6 35 21 10 51 | 49.0 | 24 17 128 |GMA3/08LOMD | 315 | 315
10 | M16x1.5 7 37 23 1 53 490 | 24 19 132  |GMA3/10LOMD | 315 | 315
12 | M18x1.5 8 37 23 1 53 | 505 | 27 22 145 |GMA3/12LOMD| 315 | 315
15 | M22x1.5 | 11 39 25 12 55 | 520 | 30 27 174 |GMA3/15LOMD | 315 | 315
18 | M26x1.5 | 14 39 24 12 57 |53.0 | 32 32 192  |GMA3/18LOMD| 315 | 315
22 | M30x2 18 43 28 14 61 | 550 | 36 36 220 |GMA3/22LOMD| 160 | 160
28 | M36x2 23 43 28 14 61 | 575 | 41 41 259 |GMA3/28LOMD | 160 | 160
35 | M45x2 30 47 26 16 69 | 60.0 | 46 50 363 |GMA3/35LOMD| 160 | 160
42 | M52x2 36 47 25 16 71 | 645 | 55 60 419 |GMA3/42LOMD| 160 | 160
S 06 | M14x1.5 4 39 25 12 55 | 490 | 24 17 137 |GMA3/06SOMD | 630 | 630
08 | M16x1.5 5 39 25 12 55 | 490 | 24 19 141 GMA3/08SOMD| 630 | 630
10 | M18x1.5 7 39 24 12 57 | 49.0 | 24 22 141 GMA3/10SOMD | 630 | 630
12 | M20x1.5 7 39 24 12 57 | 490 | 24 24 150 |GMA3/12SOMD | 630 | 630
14 | M22x1.5 | 10 43 27 14 63 | 505 | 27 27 172  |GMA3/14SOMD| 630 | 630
16 | M24x15| 11 43 26 14 63 | 520 | 30 30 195 |GMA3/16SOMD| 400 | 400
20 | M30x2 15 47 26 16 69 | 550 | 36 36 254 |GMA3/20SOMD| 400 | 400
25 | M36x2 20 51 27 18 75 | 575 | 41 46 329 |GMA3/25SOMD| 400 | 400
30 | M42x2 25 55 28 20 81 | 60.0 | 46 50 412 |GMA3/30SOMD | 400 | 400
38 | M52x2 32 61 29 22 91 | 645 | 55 60 616 |GMA3/38SOMD| 315 | 315

“*DF = ®it 2%

AADMRAIAMBPAEADIMDIIADMRALADMDADEADDD
B i e i B i il Bl i i T e

RERTHFRERFE SREF AN EHMEHT RS S RD6R
PESIGE ]
(22 REAIE gl TR E R
TuEE
THIRYE ; -~
sEmrn | B EANBES CF GMAB3/06LOMDCF | NBR
MRENEE | THEW 71 GMA3/06LOMD71 | VIT

m L4 FEERAEZR 4100/CH



A =

VKA3 ENFREREN R85 — EEIR5 M 16x2
24°HEMESE IR B IR

M16x2 |

V'

Parker EMA3

Xy

Parker (E:0] EMA3

29,5

- O
—
@D1 @D1
T1 T1
A X1) ORVE E. B
£ TAEE A (bar) DF**

EX ]| D1 T1 L1 S1 S2 &. /1% iTHS* CF 71 CF 71
L 06 M12x1.5 55 14 17 A 82 VKA3/06L 315 315 4 4
08 M14x1.5 51 17 17 A 82 VKA3/08L 315 315 4 4

10 M16x1.5 53 19 17 A 93 VKA3/10L 315 315 4 4

12 M18x1.5 53 22 17 A 107 VKA3/12L 315 315 4 4

15 M22x1.5 59 27 17 B 133 VKA3/15L 315 315 4 4

18 M26x1.5 59 32 17 B 163 VKA3/18L 315 315 4 4

22 M30x2 60 36 17 B 205 VKA3/22L 160 160 4 4

28 M36x2 64 41 17 B 269 VKA3/28L 160 160 4 4

35 M45x2 71 50 17 B 411 VKA3/35L 160 160 4 4

42 M52x2 72 60 17 B 592 VKA3/42L 160 160 4 4

S 06 M14x1.5 50 17 17 A 81 VKA3/06S 630 630 4 4
08 M16x1.5 52 19 17 A 88 VKA3/08S 630 630 4 4

10 M18x1.5 53 22 17 A 99 VKA3/10S 630 630 4 4

12 M20x1.5 54 24 19 A 121 VKA3/12S 630 630 4 4

14 M22x1.5 59 27 17 B 136 VKA3/14S 630 630 4 4

16 M24x1.5 58 30 17 B 156 VKA3/16S 400 400 4 4

20 M30x2 65 36 17 B 223 VKA3/20S 400 400 4 4

25 M36x2 68 46 17 B 367 VKA3/25S 400 400 4 4

30 M42x2 74 50 17 B 444 VKA3/30S 400 400 4 4

38 M52x2 81 60 17 B 655 VKA3/38S 315 315 4 4

k| — 2 #
DF = i&it R TESEE
s REAIE =6 kB
Rt
o B,
sEimr | EAhmms  |cF VKA3/06LCF NBR
MRER RS REFW 71 VKA3/06L71 VIT

m L5 FEERAEZR 4100/CH



i 7= 5

MAV...MA3

FRARTCE N R Rk — E IR M 162

MAVMD...MA3 EHREBRR MK RSk — EREIEa M 16x2

RIBLL: BSP
= DIN 16258*% £
T
T
|
s T 4
18 —
7 ] T [ W‘/ | ‘ I
b | e
/ - s O i
: o SESSERSTZS
I S
s2 ; S
i e
|
g ‘
i M16x2
M16x2 @20
MAV...MA3 MAVMD...MA3
=2 TAEEH (bar)
T1 L1 L2 max. S1 S2 /4 TS CF DF**
G1/4 54.0 12 19 19 74 MAV1/4MA3 630 4.0
G1/2 64.0 12 27 19 129 MAV1/2MA3 630 4.0
G1/4 41.0 19 61 MAVMD1/4MA3 630 4.0
G1/2 51.5 27 103 MAVMD1/2MA3 630 4.0
**DF = i+ &%
TSRS
ot FEALIE w5l FREZE MY
By
ERIE
RELER | KW,
MEiEmEs | TAMEES CF MAV1/4MA3CF NBR

L6

Pt 4100/CH



A =

SMAZR MR thE&E

BS EELER ALK REBE

MM
SMA3-XXX* M16X2 241 M16X2 24 2
SMA4-XXX M16X2 241 DKOMIZHM14X1.5 2
SMA5-XXX M16X2 241 DKOMIZHIM16X1.5 2
SMAB-XXX M16X2 241 G1/4ARIZLL 2
SMA7-XXX DKOREHM14X1.5 G1/4MHELL 2
SMAB8-XXX DKORHZ5M16X1.5 G1/4 2L 2
SMA9-XXX DKOMH2HIM14X1.5 DKOMHZZM14X1.5 2
SMA10-XXX DKOMH2HIM16X1.5 DKOM#ZLM16X1.5 2

KXXRFKE(Mm), AIRERGRHERBE.
L7 Pt 4100/CH




i 7= 5

m L8 FEERAEZR 4100/CH



